CS (Main) Exam, 2013

A-BRI-M-FDPA

sreferTe

U T-T5—I
ECONOMICS
Paper—I
g9 - T e SRFTT % - 250
Time Allowed : Three Hours Maximum Marks - 250

- WY STeer

W%Wﬁ%%ﬁﬁmﬁﬁmmaﬁww@%i
@am(&)m#%aﬁﬁmmé‘ﬁmaﬁ%ﬂ@mﬁﬁWﬁﬁ@ﬁgﬁ%‘!
el F FA T g F IR X OF)

mm1@5&%@4‘%mmﬁﬁ%mmﬁmﬁwwwﬁrﬁ@mwﬁ%
I AT |
YT GET/AW F OF U B wa ¥ gl F

Ja9-TA H WG AT ¥ 3% BT smeens & 9o ue FIHT (Question-cum-Answer) TRa® ¥ Frifee
SITE X SEIE WA A@EE B WFG wmem § oswnr sy wew ¥ R@ M 9w 41 s T8 Ry

SR
m%sﬁ'{ﬁﬁv&ﬁnﬁwm%a@mﬁmmﬁm
m/faﬂaﬁmwr,Tﬁﬁtﬁ‘ﬁs‘f,ww%m&ﬁm%ﬁ%mﬁ%wwmmﬁm%l

wﬁ%mﬁ%ﬁwﬁﬁﬁaﬁﬁawﬁwiwww%ﬁ?aﬁﬂﬂﬁmﬁﬁﬁmmwﬁm
SR A w9 feg e o# ) Soe-gRew ¥ A wr wowen § oww o) @Rl § oo 9d/e e
T W die TAT o B

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Word Himit in questions, wherever specified, should be adhered to.

Graph/illustrations, wherever required, may be drawn/given in the space provided for answering the
question itself.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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TUE—H
SECTION—A
Q.1 Frfafem wers v & Tue wor 150 wreat ¥ Afyg
Answer the following in about 150 words each :— 10x5=5¢
Q. 1(a) o= = & seoeRgs (no production) U Tvf Tqgiens qfad= FRIeTTEYT, U
aWWIamz%lmﬁ%mep]ampﬁa%‘Haaf?aawif
AT AT BE) @ wmig @ R AR R sf-frag (wh, w2) T B3 R
TR (wh, wh) 81 A Bl R (cy x3) @ B Rt ww T (xl, x2) T
W%awmaﬁaﬁqﬁﬁ%ﬁqaﬁwﬁ?mﬁ@ww%@ﬁﬁ%ﬁwl
Wwﬁamaﬂﬁﬁ@@%?ﬁ%ww%(seg%gwwm
e g

Consider a perfectly competitive exchange economy with no production, and two different
goods 1 and 2. Let p; and p, be the prices of the goods. The economy is populated by
two people A and B. A’s initial endowment of the two goods is given by (W}v wi‘), and
B’s initial endowment is (wh. w2). A can choose any bundle (x}, x3) and B can choose
any bundle (xé, x%). In this pure exchange economy write out the conditions for a
Walrasian equilibrium. Show that for such an economy for any equilibrium set of prices

that the absolute price level is indeterminate. 10

Q. (b) Wmﬁwmﬁma%%gﬁ@ﬁﬁ%%%&ﬁrﬁaﬁﬁﬁ?ﬁwm
@wﬁmawﬁﬁwﬁrwﬁmwmgﬁﬂmmﬁiﬁﬁ?mﬁmﬁﬁﬁ:%ﬁ
%@WWW@%%W?IWW%WWW%
%%%rwwﬁ%%@wﬁmﬁaﬁw%a%ﬁt%ﬁmwﬁ
Rozar 37 wwer oof w3 2

Kaldor in his theory of distribution argues, unlike Kalecki, that it is not reasonable to
neglect the constraint of labour shortage, and analyse a situation of full employment.
Show how investment and savings propensities determine distributive shares in the Kaldor
approach. Suppose that investment is not exogenous as in Kaldor’s original model but

that it varies with profits. What does this mean for the stability of the Kaldor model of
distribution ? 10

Q. I(c) wufde srefegaeenr ¥ Feqyres @ AT frafoor = gosmed s i
(i) 9% fuifds (i) Wtfew fwify arr Prefg &
Explain the determination of output and employment in a macroeconomy under the conditions

when individuals are subject to (i) no money illusion, (ii) money illusion, 10
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Q. 1(d) @wﬁaﬁwwﬁm%%wﬁvﬁm(mﬁ%ﬁ)@‘www-w

Q. 1{e)

Q. 2(a)

Q. 2(b)

ﬁ%ww%ﬁﬁwwﬁélﬁmﬁaﬁﬁ,wwﬁwﬁﬁaﬁ%m
Tl & UF s wmaﬁ#aﬁﬂw%%sﬂﬁ W gedw e se-wer # R
Ree @ Sl B 1 qAT AR 3q ae @ Wi & Prafcs s 3 2

An individual finds that all his receipts (including income) and payment transactions are
in the form of money that bears no interest, However, he can convert money into bonds

and earn interest income but that involves a fixed cost of each conversion transaction.
What are the determinants of the individual’s demand for holding money ? 10

mﬁﬁn%@e@wﬁrs@meﬁﬁmﬁmﬁﬁf@m%:(i)@ﬁaﬁwgﬁ
W,W%ﬁﬁamﬁ%@w%ﬁaﬁwﬁﬂmwammm%
?;(ii)mwﬁm%ﬂ@ﬁ?fﬁwmtﬁﬁwﬁquma‘faﬁsﬁwmrﬁ
& (i) T v foaw w1 & o & um FLET JRAeAThl T ST B @ F A
%Wﬁﬁmmﬂﬁ?l%ﬂmﬁwaﬂwqﬁ@m%ﬂ@mﬁﬁ
sgfead AR |

Suppose an industry is characterized by the following three conditions : (1) there are a
large number of small firms, each producing a differentiated product and facing a downward
sloping demand curve; (ii) each firm ignores the effects of its actions on the decisions
taken by other firms; and (iii) new firms producing close substitutes for the product of
the existing firms can enter the industry. Then, derive the equilibrium conditions of an
individual firm and of the industry. 10

seu-famar fagofr (Wﬁ)ﬁw—wﬁrwmﬁewwﬁ%aﬁﬁwﬁaaﬂﬁﬁ
ﬁwa@awﬁaﬁw%@ﬁ%%mmm%?

Under Bertrand price competition with homogeneous products in an olj gopoly demonstrate
how is the equilibrium price that will prevail arrived at ? 25

m?ﬁﬁqmﬁﬁm%mﬁwﬁﬁrﬁp:zo_?mﬁmw,aﬁPﬁ@%

HWQ%WWE?IWHW%WRCW%W%W?WT@%,W
INR 2 % Rerx Hisieq emies, s, ¢, =c, = 2| |
W%—W%mﬁw%ﬁwﬁ%wﬁwﬂa@q{wﬁw
71 € ? w & @9 (Profits) T ¥ 7
mﬁsﬁ*mwﬁmﬁwaﬂﬁ%wﬁnﬁ@%ﬁwww
& ? WH B T (Profits) T & ?

Let the market demand curve for carbonated water be given by P= 20_97(2 where P is

the price and Q is the market output. Let there be two firms producing carbonated water,
each with a constant marginal cost of INR 2, or, ¢, =c¢, =2

What is the market equilibrium price and quantity when each firm behaves as a Cournot
duopolist ? What are the firms® profits ?

What is the market equilibrium price and quantity when each firm behaves as a Bertrand
duopolist ? What are the firms® profits ? 25
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Q. 3(a) ww&mw&mm@%mmwaammmm%mammﬁ
Wﬁmﬁﬁﬁﬁ%ﬁm%?mﬁm,m&ﬁﬁwﬁﬁ@%@
W%Wﬂﬁ%ﬁ%ﬁ%%:ﬁﬂ%ﬁ?mﬁwaﬁﬁaﬁﬁﬁﬁawﬁ
ma&fswﬁﬁ?ﬁﬁ@m%%MH%mWﬁﬁ?

If workers supply labour on the basis of an expected real wage, how is the aggregate
supply of output determined in the economy ? Suppose aggregate demand and supply are
below the natural rate of employment and output. Would the New Classical economists
advocate any particular policy intervention when the economy is in such a situation ?
25
Q. 3(b) W%%Waww%?éﬁq—ﬁwwgmm%ﬁﬁu%ﬁ?ﬁumm
ﬁmmwm%@@%mmﬁﬁwmaﬁwmﬁm
SN H B 7
What are the main goals of a central bank ? What are the instruments by which the central

bank manages the liquidity in the financial system and how does it use these instruments
to achieve its goals ? 25

Q. 4(a) AT (commodities), T5T, IvSH TH wW Rovh 5 == RoRmE § e e foar
® ARl & e ¥ Al sefurer g Sumi 2 | AR FuhE & e
W R FEl st S B ¥ 7 deafie sl @ s o Mgk @
Wﬁﬁﬁﬁ%ﬁ%ﬁ—mﬁmﬁﬁﬁﬂ@%w%ﬁmﬁﬁ%m%?
TR AT B3 7 ol 1 S o @ 2 7 aved s R
# Rl ol § o sofieanr BratRe g 2 7
Macroeconomics is usually approached via the outcomes of economic interaction in the
following four markets — commodities, money, bonds, and labour markets. The Classical
economists focused on which three of these four markets ? In which market does the
loanable fund theory of interest rate determination of the Classical economists focus and
how is the interest rate determined ? The Neo Classical synthesis focuses on which three
markets ? In which market is the interest rate primarily determined in the liquidity preference
theory ? 25

Q. 4(b) ¥ 2003 F W 2008 T WG Wl IAF Squfiq sferaeasi 3 R ISl g O
B ¥ T P o B o P R e 8 3 gt @ Preww B 3
Fromerar @ & w3 spfemaenr ¥ 9% qm % waw @1 Y wRG e & 7
After 2003 till 2008 many emerging economies including India received huge capital
inflows. To contain the effect of these flows the central bank sterilized the inflows.
What is sterilization and how does it affect the supply of money in the economy ?

25
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TSt
, SECTION—B
Q.5. Pl % W & SW @ 150 Wl W AR i—
Answer the following in about 150 words each :— 10x5=50
Q. 5(2) e T & dF Al asy T &8 P gw A 3w wahher sme ¥ 39 @gdl S gdivaa
famar o wewar 8 wwar § @dar @ wOd K <ed B 7
What are the three basic goals of public finance ? Can these goals be coordinated into
an overall pattern of policy or are they always in conflict 7 10
Q. 5(b) ¥radserT =T W dor @ A B 7 W I;  wrll W =R W weg €, sww awmi
3w TG e e (W F MU o W UF AW I@EeR W Wi YeR 8w
RRel 3w @ o aw ool Aer #1 s Ror ¥ i WX B s 3w B s o
F DIA-TT A FAEEX B 7 AU TH H T R @ G FRO FT 8 P AN A B
TE QW AW TR YEEH B IS R 8| AUR Bg ledrd gHe HNC |

What is an offer curve in international trade ? For two countries engaged in trade in two
goods, draw the offer curves such that the offer curve of the home country has a section
reflecting inelastic import demand and the foreign country’s offer curve is elastic throughout.
Indicate in your diagram which part of the home country’s offer curve is inelastic. What
is the reason for this shape of the offer curve ? Suppose the home country imposes a tariff
on imports. Demonstrate the implications for trade. 10
Q. 5(c) Twmeia o & frg s Ay & wrerg ¥ o smemErd wd R FREmER

TE a1 gR-ued ffeg) afes #1F-8 9@ @1 gAYT &d 8 7
Summarize the main arguments of the trade optimists and trade pessimists with regard to
trade policy for developing countries. Which argument does the data tend to support ?
10

Q. 5(d) F FRueft ¥ FIFER BX@EY FT GHAT HIAA A HROT FARY |

' State five reasons that support government intervention in agricultural markets. 10
Q. 5(e) AT UE Ram i s dREewar ag P O rensl S gEiRG Se—() &
(Cohort) STHTX AfReed T, (i) SEHATTAT X GATT @1 J97E, TF (iii) IRFeTTT & qoet a4

TEd erer |

Expand on the following three explanations for the Kuznets hypothesis about inequality
and development—(i) the cohort size hypothesis, (ii) the effect of openness on inequality,

and (ii1) the strong versus the weak version of the hypothesis. 10
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Q. 6(a)

Q. 6(b)

77 o 5 groel wygfere s ¥ uw ey Soare 9X yew 4 yew o) % oo @ fraifa
FAT &1 AR Ieem wilfF WA 81 A WER IW FI B AWEER I A god F AEaC
ghs & WY Aifed AW UK HXA B | T GIHR Dl TH TR HC GE BN ST ©
I HEATTER FX TG I UHT & R R F @ UREE Hed W 99 WIS €9 A

F O ST & ¢ U REEE U7 99 F YHe Hivg |

Suppose a given yield of tax is to be obtained from an excise on a particular product in
a perfectly competitive industry. If the objective is economic efficiency the government
would prefer that tax which obtains the desired yield with a lesser increase in the price.
Should the government impose 2 unit tax or an ad valorem tax if the objective is that they
should both impose the same burden at the initial price before the imposition of the

tax 7 Demonstrate your answer with a diagram. 25

oz darT w7 2 7w Wl S Iwime onliE wermar o7 % g WRER g ™
T AT #Y o 3 U TEAE @ Seqdl #INg) t§ B ATUGE B YIS qa
B ow(l -t)H B & S Uit SEYEl s Aasr qH 9% ade w0 R T oW
ST L, ¥ L, aF 9SO T =OfFd & @ o 5 w90 8 ud h O9E twl, B
wF aiitfE mewar & ®Y H U8 aaikd BN S Wt % Hew & P¥ P - S TF HEHW
T A T AN & Q¥ Q, T WM | YR g Wik WEwWl § qeund g v
T B WEIET & GO B WA BB T e & eg & §AT 8 7 Afe Heer |
i wemar AT B TFA B R FEIEAT @ w5 qOH B o FERE =T @ i
HLA] & TUT GEEAl Urge o) IFd G B aeTT i IcAed HAd @ o gEras i
FA & fou 3=ge 2, @ R dam aRvew § R o P ?

What is rent seeking ? Consider a proposal by a government to levy a proportional tax

on income so as to subsidize the consumption of a good. The proportional tax at a rate
t reduces the wage received to w(l — t) which with a standard upward sloping supply of
labour curve will reduce the hours of labour worked from say L, to L. The net income
of the person falls and tax revenue will be twlL,. This is transferred as a subsidy which
reduces the price of the subsidized good from P to P — S and increases the quantity
demanded from Q, to Q,. What is the valuation of the subsidy by the recipient ? Is it
equal to the value of taxes paid to finance the subsidy ? If the tax payer decides to devote
resources to rent seeking to forestall the policy to subsidize the good and the subsidy

recipient is also willing to devote resources to encourage the adop'tion of the policy, who

will have the advantage in the rent seeking context ? 25
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Q. 7(2)

Q. 7(b)

Q. 3(a)

Q. 8(b)

Q. 8(c)
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7 o ol Rl ang e @ fAew R Bl aRtees @gaT § 7
gefeqaeat P W oo g woEeiear @@ wd we Rex uRada ax H Srhe #)
apefoaedT O STEW AT TeHAT % M ¥ W 0 W NG € | TEed-diel H OWEU M
Td SN TX WX TOSUEl B URen® g ¥ 7 I U Sged $W W (e s 8 7
I T B GAAUA H TEF A B AFA PN

Suppose the goods, financial, current account and foreign exchange markets are initially
in equilibrium. The economy has low or imperfect capital mobility and operates at a fixed
exchange rate. The economy is subject to a favourable demand shock that raises expenditure.
What is the outcome of the shock on the aggregate income and interest rate in the short-
run ? How is the balance of payments equilibrium achieved ? Draw a diagram in support
of your answer. 25
gmwzﬂmwww%?mﬁﬁ%amwﬁwﬁﬁwaﬁ%@
T F Reroneid gate siie iy &1 STE F% W 2| §OhR aWe el 9
ST 2, S e e wem ¥ i @ @ ) o $Y uE wweqyl sferawn
i B O o1 v e e =l o o 3 T

What is a speculative attack on a currency ? Suppose the economy has a fixed exchange
rate and the government is following an expansionary macroeconomic policy. The government
increases the budget deficit which it finances through a monetary expansion. How does
this lead to a crisis ? What is the timing of the speculative attack ? 23
T SR sderaren  ww g A sefaera ¥ drEers uRadT @ dled wwd
I Tee HIWY| AT AT BOUHE A SEEAE PR |

Explain the Lewis model of structural change from an agricultural economy to a modern

industrial economy. State three major criticisms of the Lewis model. 20
T FRE 2 5 2s-Sr wise A up Rfmer Y B R defe & frg o sieleuaen
Haf g9l ® g WX STH &9 ¥ Wi el 21 S-S HIST W TST HT
w T e @ wrer S aanRd |

It is said that a characteristic of the Harrod-Domar model is that even for the long run
the economy is at best balanced on a knife-edge of equilibrium growth. Explain the
Harrod-Domar model and the reason for this characteristic. ' 15
sty TR & Rewwe-diedE wed @ @ ygw frews wmn g P M-l Aremans
# JUR X IF AN HeEe g7

What are the two key conclusions of the Heckscher-Ohlin model of international trade ?

Under what assumptions are these conclusions arrived at ? 15






